MI10x1,25%35 - 8ks
M12x30 - 6ks

MI12x70 - 2ks (LC) /2y MI12-éks (A, )
M12x90 - 2ks (1) [@ M12 - 4ks (C) _

M12x19 - 3ks (C)
MI12x21 - 1ks [C)

FP10 - 8ks
PP12 - 8ks (A, 1)
PP12 - 10ks (C)

P11 - 8ks @ P30x5 - ks

DETAIL

e

[an‘_f\

1) [E

10 Kia Sportage
40 Hyundai Tucson

MI12x19 - 3ks
MI12x21 - Tks

M12x70 - 2ks

AlC 400 12 2

PM12x70 - 2ks

10x1,25x35

h12x30

*MIT0x1,25%35

HYUNDAI TUCSON, KlA SPORTAGE Q
Kod: HOZ06{ALC) 10. 8. 2017




